33 Lnnnt dwpgh Swhp  hwiwjGph GwlwwwphGGph Gnpngnud

ouduLU@®GNMro /2 pbipp /
Uz tuwinwGph Leu- Uhwnph LGnw-
3/3 GUwpwahp /4 Luy wndtpp dtOp
1 2 3 4 5 6 7
1.tptpnLGh thnnng
1 27-144 |huswjhG hhdph Ywnenignid 10 ud hwuwnnt- 1000° 0.450

pjwip fuht /10002 -GjnLpwdwiuu
20-:-40dpwl-1.50°40--70dpwily - 12.6 &%/

2 | 27-251 |Phunniih nwpwéntd Swlhwwwphwhb w0 0.054 .
hpdph Jpw 1.2 wl/ 100042 ’
3 16-4-4 |®nuwjhl Gnpngnid h = 5 ud hwuwn.dhash 1000° 0.4252
5 0% dwlbpbund «P»whwh JtiphG 2bpin w/pbun,
4 16-4-4 [Onuwjhl Gnpngnid h = 5 ud hwuwn.5 62 dwytipb 1004° 0.0568

uhg wybij«P»wnhwh Ytpht 2tipn w/phiwn.

5 | 1-1593 [ChG wnph pwpéanid hGpGwpwihhG Epuwdwinnpnd | 10008° |  0.0023

6 | 9310-5 [Stnwihntunid 5 Yo wnpwywyp wni 4.6
2.Upndjwb thnnng
1 27-144 |huBwyhG hhdph Yuwrenignid 10 ud hwuwnnt- 1000° 0.166

pjwdp fuhd /10042 -GjnLpwdwifuu
20-:-405pwl-1.50°40-:-70dpwily - 12.6 §%/

2 | 27-251 [Phuninith nwpwénd Swlwwwphw)hb wnl 0.020
hhdph Jpw 1.2 innG/ 100012

3 16-4-4 [®nuwjhb Gnpngnid h = 5 ud hwuwn.BhGslk 1000* 0.026
5 0% dwlbpbuny «P»wnhwh Jtphb 26pun w/pbiun.

4 16-4-4 [Onuwjhl Gnpngnid h = 5 ud hwuwn.5 52 dwybnt 1000° 0.140

uhg wubj«P»inhwh ytphG 26pn w/pbun.

5 | 1-1593 |ChG wnph pwnpdnid hGpGwpwihhG Epulwdwwnnpnd | 10006° 0.001

6 | 9310-5 |Stnwthnfunid 5 Yo wnpwduwyn wn( 2.0
3.Uwpqujwl thnnng
1 27-144 |tuSwjhb hphoph Ywnenigned 10 ud hwuwnnt- 1000° 0.742

pjwip fuhd /10002 -0jnLpwdwiuu
20-:-409pwy-1.5G°40-:-70dpwly - 12.6 0%/

2 | 27-251 |[Phuniip nwpwoned Swlwwwphwih wnG 0.089
hhdph Jpw 1.2 wnG/ 100002

3 16-4-4 [Onuwjhl Gnpngnid b =5 ud hwuwn.0hGsk 1004° 0.3674
502 dwybpbund «P»wnhwh UbphG 2bpin w/pbiun.

4 16-4-J [Onuwjhb Gnpngnid h = 5 ud hwuwn.5 62 dwytipk 1000° 0.3750

uhg wykbij«P»wnhwh JbphG 26pn w/pbun.

5 1-1593 |ChG wnph pwnpdnud hGplGwpwihhG Epulwdwinnpny | 10006° 0.0036

6 | 9310-5 1Sknwihnhunid 5 i wnpwdwip wnl 7.2
4.%M%50hpGjwl thnnng
1 27-144 |hu6wjhG hhiph Ywnenigned: 10 ud hwuwnnt- 1004° 0.633

pjwip fuht /10082 -G)nLpwdwiuu
20--40ppwy-1.50°40-:-70dpwly - 12.6 &%/

2 | 27-251 |Phwuniih nwpwontd Swlwwwphwihb (1]0] 0.076
hhiph dpw 1.2 wnnG/ 100042

3 16-4-4 [®nuwjhl Gnpngnld b = 5 ud hwuwn.BhGsl 1000° 0.2284
5 0% dwybpbuny «P»wnhwh UbphG 26pn w/pbin.

4 16-4-4 |®nuwyha Gnpngnid h = 5 ud hwuwn.5 B2 dwytipb 1000° 0.4121

uhg wybj«P»winhuh UkphG 26ipun w/pbun.

5 | 1-1593 |ChG wnph pwpénid hOpGwpwihhG Epuljwdwwnpny | 10004° 0.003

6 | 9310-5 |Stnwthnhuntd 5 Y wnpwdwin [1310] 6.0
5.luwlojwl thnnng
1 27-144 |huSwjhG hhdph Ywnaignd 10 ud hwuwnne- 1004° 1.062

pjwip fuhg /10062 -G)nLpwdwiuu
20-:-409pwl-1.50°40-:-70pwily - 12.6 &%/

2 | 27-251 |Phuninudh nwpwénld SwlwujwnphwyhG (G 0.127
hhdph Jpw 1.2 wnG/ 100002
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